Assembly Instruction 049-000105

Hardware List

No,| SHAPE DESCRIPTION Qty.

A| & |8x25mm Dowel (Wood) 28Pcs

B| & |8x20mm Dowel (Wood) 10Pcs

15MM

c|&pe Myfix Minifix 10Sets

= D| <@ |M3.5x16mm Screw 80Pcs

E | wwmwmw® | M4x45mm Screw 18Pcs

F @@ Hinges 2/8 4Pcs

/ / < 9

// e & %@ Hinges 5/8 5Pcs

Jf/ /@ /@ ] H| & [sJ166Bag Hook 10Pcs

CSK Tapping Screw

{g} } T | | <® |410x58" 2D i0Fes
> J f§~§s® MGN / 8603-Grey 1Set
/ /&j K @ Pyramid Angle Corner Block |22Pcs
/ L| «cxe@ | M4x28mm Screw 14Pcs
(& /@9 — M| 3 | Shelf Support 24Pcs
[/ N| @&r |5/8Nail With Pin 10Pcs
| O | == | Nylon SP/Pulg - Blue #8x2" |5Sets

/ P| > |sticker 1Pc

[
\




Assembly Instruction

Part List




Assembly Instruction

0
kS 38
o o
= <
2
(O]
[ .
(&)
()]
€
£
X
x
= x
=S <
= =
O —
(Q\| ™
o o
() ()
N N
»
o
W _\\/, _\/
N // / //\\
o)
m 7 7>
- .
= ) ) /=)
~ N/ < 7
©
3 s
7/
) )
& ~-7
&
Te]
) -~
x ; \
[e0] o
\ /
-_7
<

Step 1




Assembly Instruction

Step 4

SJ166 Bag Hook

2Pcs

CSK Tapping Screw
#10x5/8" ZD

2Pcs

Step 5

M3.5x16mm Screw

4Pcs

MGN / 8603-Grey

1Pc

Step 6

J

== | MGN / 8603-Grey

1Pc

MGN / 8603-Grey

1Pc




Assembly Instruction

Step 8

wmws® | 4x45mm Screw

1Pc

> | Sticker

1Pc

Step 9

M4x45mm Screw

1Pc

Step 10

@52 | Minifix

4Pcs




Assembly Instruction

Step 11 E | <« | M4x45mm Screw 2Pcs

Minifix 2Pcs

Step 12 [¢| &2




Assembly Instruction

E | «wwws® | M4x45mm Screw

Step 13

Step 14




Assembly Instruction

E | «wwws® | M4x45mm Screw

Step 15




Assembly Instruction

Step 17

E | «www® | M4x45mm Screw

Step 18




Assembly Instruction

5/8 Nail With Pin

10Pcs

Step 20

D| <ax @ | M3.5x16mm Screw 22Pcs
Pyramid Angle
<2 | Corner Block hes




Assembly Instruction

Step 21

b9 24

Shelf Support

24Pcs

Step 22

11




Assembly Instruction

Step 23

€

MGN / 8603-Grey

1Pc

Step 24

MGN / 8603-Grey

1Pc

MGN / 8603-Grey

1Pc

12




Assembly Instruction

Step 25

M3.5x16mm Screw

18Pcs

G

¥

Hinges 5/8

3Pcs

13




Assembly Instruction

Step 26

M3.5x16mm Screw

12Pcs

F

%

Hinges 2/8

2Pcs




Assembly Instruction

Step 27

M3.5x16mm Screw

12Pcs

G

¥

Hinges 5/8

2Pcs

/

A

15




Assembly Instruction

Step 28

M3.5x16mm Screw

12Pcs

o/

F

%

Hinges 2/8

2Pcs

16




Assembly Instruction

Step 29 |B| & |8x20mm Dowel (Wood) |10Pcs Step 30 |L| =6 | M4x28mm Screw 10Pcs

Step 31 | 0| &%~ | Nylon SP/Puig-Blue#8x2"| 5sets| | Step 32 |H| & | SJ166 Bag Hook 8Pcs
CSK Tapping Screw
| <8 |#10x5/8" ZD aRes

I

—

® L% &

& -4

\

\




